[OERFSEAZ/ \ R

MH*’JU—Z'

"J \ﬂ:?\ E:t%
MMECT I =GZERALCTHD IV EETT,

387



B ARTES

{EEsz

=] 20 : 20mm A BEFEREE
& B : BREAREY
4 C :EEY
#
J\
>
{
BAEEER
@YX &
NO B % B
| /@ REES FIL=a%
‘ 2 [~ h— FEa%
(& 3 [EArVOVR B
51 4 |ERbY i
/® 5Lt B
/® 6 | ZmEY R
3 7 | EAEY ]
8 | X5 &
] . 9 [ouvs NBR
>\@ 10| QU>o NBR
| \@ 11| misy P
| \® B w4
; 13| RICwFY NBR

388



New-Era.

[ Lx:s
R z5 ]
BEERES [MPal 0.7 5
THE [MPa] 1.05 'IJ
EREEEEHEE  [C] 0~60 (RHEMEE) z
fm &
BEEOR M5X0.8
o
EiotS Akl Pabia bt %
vuvs| BE $777 HED? |gyope
frERR | B oR | | EEE LI—2Y IN] mxmxp (HEEE D
[mm] | [MPa] BAES | BRES [mm] = n
>
2 M4 x0.7 | M3X0.5 N
EEE MH-20C 20 0.1 4B LEF 19 | 22 | 32X32%x50.5| 195
B M4x0.7 | M3X0.5
ESE MH-20A 20 0.2 AERR AEF 8 — | 32X32%x50.5| 180
HEFER M4Xx0.7 | M3X0.5
ESE MH-20B 20 0.2 AR A — 22 | 32x32x5605 | 180

) 1 BRAIEI Uy TIRA Y hL=30. £/3=0.5MPaDDIETY .
A2 NMETERAETEER T (L —EFET)

WsEEEE (B)
79—
. B
S o
; Al
IN] s | 4

JUyTRAUN L [mm]

389



OERREAZ/ \ VB

WS ATER

CADT—%%D

M

H

v

U

|

z

-

E 3X2-M4X0.7
i RE6
J\

v

4

m ‘\ I~
. 33

2X2-M3X0. 5 al 1o
-t

M5X0. 8
(BAR= 1)

22
18
8
|
I
|
|
1
032

2X2-M4AX0. 7 4] 9 315
BB

24 50.5

390



New-Era.

CADT—%#b

WS ATER

M
H
3
)
x

3x2-M4AX0 .7
xe6

T\ =RER/FE

© |
£ ) - 33 b } @7
< =
2X2-M3X0. 5 4110
BB
2 M5X0. 8
(BAR-1)
y | |
Y 2 o Jpe e — (O
2X2-M4axo. 7 4l 9 85
BB }
24 505

391



OERREAZ/ \ VB

WS ATER

CADT—%%D

M

H

7

Y

|

z

B

z 3X2-M4AX0. 7
]

% B&6

J\

v

g : | :

|
o | a
9 - 33
2X2-M3X0. 5 4110
T
AL M5X0. 8 M5X0. 8

(BAR=1)/ (BAR-F)

22
18
8
|
O
o
e
I
032

2Xx2-M4Xo. 7 24 A‘ 9 8.5
Bd

392



